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Q1. Consider the following statements: [UPSC CSE PRELIMS 2019]

1. Under Ramsar Convention, it is mandatory on the part of the Government of India to protect and

conserve all the wetlands in the territory of India.

2. The Wetlands (Conservation and Management) Rules, 2010 were framed by the Government of India

based on the recommendation of Ramsar Convention.

3. The Wetlands (Conservation and Management) Rules, 2010 also encompass the drainage area or

catchment regions of the wetlands as determined by the authority.

Which of the statements given above is/are correct?

a) 1 and 2 only

b) 2 and 3 only

c) 3 only

d) 1, 2 and 3

+ Show

Answer

Q2. Which of the following statements about flex fuel vehicles is/are correct?

1. Flex fuel vehicles can run on both petrol and diesel.

2. Flex fuel vehicles can run on a blend of petrol and ethanol.

3. Flex fuel vehicles are costlier than Electric Vehicles EVs.

4. Flex fuel vehicles emit lower greenhouse gases compared to traditional petrol/diesel vehicles.

Choose the correct option:
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a) 1 only

b) 2 and 4 only

c) 2, 3, and 4 only

d) 1, 2, 3, and 4

+ Show

Answer

Q3. Consider the following statements:

1. For an equal amount of heat or electricity, burning wood releases less CO2 than burning oil and coal.

2. The EU officially counts wood and other biomass as carbon neutral, based on the premise that CO2

emitted through burning will be reabsorbed by more trees in the future.

Which of the above statements is/are Not correct?

a) 1 only

b) 2 Only

c) Both 1 and 2

d) Neither 1 nor 2

+ Show

Answer

Q4. Consider the following pairs:

Tiger Reserve Location

1. Bandhavgarh Tiger Reserve Madhya Pradesh

2. Periyar Tiger Reserve Kerala

3. Pakke Tiger Reserve Assam

Which of the above pairs is/are correctly matched?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

d) 1, 2 and 3

+ Show

Answer
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